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O 0.001km? @ 10ha @100a

@ 100000m? ® 1000000cm?

A

Mo

o]

L

v

A]-71—~8§94 1= o])
= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?




® 13ha=130a
® 5.6km? = 5600 ha

® 8.5km? = 850000 m?

@)1.8km? = 18000 a

@ 92000a = 92ha

B

@ 13ha = 1300a

@ 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha

B

T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B

T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0
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@ 3t =3000kg @)9000t = 9kg
® 2t = 2000000 g @ 0.6kg=600g

® 0.65t = 650kg

@ 9000t = 9000000 kg




® 240a =2.4ha @ 0.12km? = 1200a
® 97.2ha = 972000 m?2 @3140a =3.14ha

® 3500000m? = 3.5 km?

@ 3140a = 31.4ha
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O 4a=400m? @ 2000a = 20ha
® 6km? = 6000000 m? @3500000a = 35km?

® 780000 m? = 78 ha

@ 1km? = 10000a ©] B2
3500000 a = (3500000 + 10000) km? = 350 km? I},




42000( ) =420( ) =42ha
@ m2, cm? @ km?, a B)m?, a
@ ha, m? ® ha, a
1ha = 100a = 10000 m?
whebA] AL Y2 m2, a ¢ @wo] "yl
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A= A3 AL ol AR AEAL,

3700000( ) =370( )= 3.7km?

O m?, cm? @ m?, a @mQ, ha
@ ha, m? ® a, ha

1km? = 100 ha = 10000 a = 1000000 m>
THERA] 2 AR m?, ha 9 @®o] HY,
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ARG Hol S R thehdl 2L o= AY
@ 480000 m? @) 4.8 km?
® 4800a @ 48ha

® 4800000000 cm?

(BAARE ] Hol)
= 600 x 800 = 480000( m?)
— 4800002 = 4800 a = 48 ha = 0.48 km?
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® 12ha @) 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?

~&B

GAE m? 2 FASNA gy

@ 12ha = 1200a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200a = 120000 m?

® 1200000000 cm? = 120000 m?
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ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth
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@ AHY 1Lt =-18a @A]—Z}ﬁg C=20H-18a

® AFE Lt 2-20a
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T A o] Aol 242 80m , 30 x 2 = 60m ©] B2
(PFE29] Hol)

=80 X 60 + 2 = 2400(m?) = 24(a)

Alte]E c2 o e 9] ol o] Zol= 90 + 30 = 120(m) Y4
1=

(AretE] &S] g ol)

= (120 + 90) x 40 + 2 = 4200( m?) = 42(a)

webA] AFZEY 2o uol

42 - 24 = 18(a) ¥ WYL




